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Aufgabe 1
Ergénze wie im Beispiel a).
a) 3,68 km = 3 km 680 m = 3680 m b) 269.8 m = m  dm = dm
c) cm = cm mm = 15 mm d) m = 567m 9 dm = dm
e) 6,5 cm = cm mm=  mm f) m= m dm=9402 dm
g) 35,1l m = m dm = dm h) dm = 3dm 2 cm = cm
i) m = m dm = 2162 dm j) 3,6 dm = dm cm = cm
Aufgabe 2
Ergénze wie im Beispiel a).
a) 82,39 kg — 82 ke 390 g — 82390 g b)769t— t kg— kg
c) 790,44 kg = kg g = g d) 536,38 kg = kg g = g
e) 67,79 t = t kg = kg f) kg = 942 kg 760 g = g
g) kg = 954 kg 630 g = g h) 842,31 kg = kg g = g
i) kg — 463 kg 920 g — g j) t = 40 t 460 kg — kg
Aufgabe 3

Ergénze wie im Beispiel a).

a) 10,79 Euro = 10 Euro 79 Cent = 1079 Cent

b) 53,97 Euro = Euro Cent = Cent
¢) 72,54 Euro = Euro Cent = Cent
d) Euro = Euro Cent = 6716 Cent
e) Euro = Euro Cent = 6558 Cent
f) 43,97 Euro = Euro Cent = Cent
g) 93,21 Euro = Euro Cent = Cent
h) Euro = 40 Euro 96 Cent = Cent

i) 13,49 Euro = Euro Cent = Cent
j) Euro = 28 Euro 48 Cent = Cent
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Aufgabe 4

Ergénze wie im Beispiel a).

a) 50,53 a = 50 a 53 mZ — 5053 m> b)  ha=5ha2a— a

c) m? = 65 m? 26 dm? = dm? d) ha = 94 ha 60 a = a

e dm? = 40 dm? 51 em? = cm? f) ha = 35 ha 51 a = a

g) cm? = 37 em? 45 mm? — mm? h) a—1la55m? — m?

i) dm? = 96 dm? 26 cm? = cm? i) m? = 8 m? 25 dm? = dm?

Viel Erfolg!
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